

Lemma 5.11 If  $f$  is singular at  $\underline{x} \in V_f(k)$ , then  $\mathcal{O}_{\underline{x}}$  is not a VR.

Proof: By 3.10  $f$  is singular at  $\underline{x} = \tau_{\underline{x}}(\underline{0}, 0) \Leftrightarrow$   
 $\underline{0} := (\underline{0}, 0)$   $\tau_{\underline{x}}^*(k)$  is singular at  $\underline{0}$

By Observation (5)  $\tau_{\underline{x}}^* \mathcal{O}_{\underline{x}} = \tau_{\underline{x}}^* \mathcal{O}_{\underline{0}} \Rightarrow$  we may assume  
 w.l.o.g. that  $f$  is singular at  $\underline{0}$

Then by 3.8  $L(k) = L_{\underline{0}}(k) \stackrel{=0}{=} \Rightarrow \text{mult } f \geq 2$

?? Assume that  $\mathcal{O}_{\underline{0}}$  is VR  $\Rightarrow$  either  $\frac{\alpha}{\beta} \in \mathcal{O}_{\underline{0}}$  or  $\frac{\beta}{\alpha} \in \mathcal{O}_{\underline{0}}$

Let  $\frac{\alpha}{\beta} \in \mathcal{O}_{\underline{0}} \Rightarrow \exists a, b \in k[x, y] : \text{mult } a \geq 1, \text{mult } b \geq 1$   
 $\& \exists v, \lambda \in k; \lambda \neq 0 : \frac{\alpha}{\beta} = \frac{a(\alpha, \beta) + v}{b(\alpha, \beta) + \lambda} \Rightarrow$   
 as  $(b+1)(\underline{0}) \neq 0$

$$\Rightarrow \alpha(b(\alpha, \beta) + \lambda) - \beta(a(\alpha, \beta) + \nu) = 0$$

$$\Rightarrow \underbrace{f}_{\text{mult} \geq 1} / \underbrace{x b + \lambda x^0 - (y a + \nu y)}_{\text{mult} \geq 1} = a$$

as  $\lambda x \neq 0$   
and  $\text{mult } b \geq 1$

$\Rightarrow$  a contradiction

The argument for  $\frac{\beta}{\alpha}$  is symmetric.

Lemma 5.12 Let  $L$  be an AEF given by  $w(x, y) = 0$

(where  $w = \lambda(x) + y g(x, y) + \delta$ ,  $\text{mult } \lambda \geq 1$ ,  $m := \text{mult } \lambda \geq 2$ )

Suppose  $P \in \mathbb{P}_{L/K}$  such that  $u, v \in P$   $v_P(u) = 1$ .

If  $\lambda \in K[x, y] \setminus \{0\}$ , then  $\exists a, b \in K[x, y]$  with

$$a(0) \neq 0 \neq b(0) \text{ and } \frac{\lambda}{u^{v_P(\lambda)}} = \frac{a(u, v)}{b(u, v)} \in \underline{O}_0^* = \underline{O}_0 \setminus \underline{P}_0.$$

Proof: Put  $\lambda := v_P(\lambda) = \mu(\lambda)$  by 5.5

by 5.4  $\exists c \in K[x, y] \exists l \in K^* : \lambda = l u^\lambda + c(u, v)$  &  $\mu(c) > \lambda$ .

3  
 denote coefficients of  $c: c(x,y) = \sum c_{ij} x^i y^j$

if  $c_{ij} \neq 0 \Rightarrow \begin{matrix} i+j \leq m \\ \text{mult } c > k \end{matrix} \Rightarrow i+j \leq m-k > 0$

mult  $a = m \Rightarrow \mathcal{Z} := -\frac{a(x)}{x^m} \in K[x]$

$w(u,v) = 0 \Rightarrow \underbrace{a(u)}_{\mathcal{Z}(u) \cdot u^m} + v(1+g(u,v)) = 0 \Rightarrow \frac{v}{u^m} = \frac{\mathcal{Z}(u)}{1+g(u,v)}$

Hence if  $c_{ij} \neq 0 \Rightarrow \frac{u^i v^j}{u^k} = \left(\frac{v}{u^m}\right)^j \cdot u^{i+jm-k}$

Compute  $\left(\frac{c(x,y)}{x^k}\right)(u,v) = \sum c_{ij} \frac{u^i v^j}{u^k} = \sum c_{ij} \left(\frac{v}{u^m}\right)^j u^{i+jm-k}$

$\left[ \text{put } k := \max \{i+jm \mid c_{ij} \neq 0\} \right] = \sum c_{ij} \frac{\mathcal{Z}(u)^j u^{i+jm-k}}{(1+g(u,v))^j}$

Define  $b := (1+g(x,y))^k \Rightarrow \text{mult } b = 0$

as mult  $g \geq 1$

$\exists d \in K[x, y]$  with  $\text{mult } d \geq 1$  :

$$\left( \frac{c(x, y)}{x^k} \right) (u, v) = \frac{d(u, v)}{b(u, v)} ; \text{ put } a := 1b + d$$

$$\text{and } \frac{a}{u^k} = 1 + \frac{c(u, v)}{u^k} \Rightarrow \text{mult}(a) \neq 0$$

$$\text{mult}(a) = 0 = \text{mult}(b) \Rightarrow \frac{1b(u, v) + d(u, v)}{b(u, v)} = \frac{a(u, v)}{b(u, v)}$$

Proposition 5.13 Let  $f$  be smooth at  $p \in V_f(k)$

and  $P \in P_{L/k}$  satisfies  $v_P(\alpha - \beta_1) > 0, v_P(\beta - \beta_2) > 0$ ,

(1)  $\exists u \in P_{\neq} : v_P(u) = 1$  and  $\forall \lambda \in K[x, \beta] - \{0\}$

$$\frac{\lambda}{u^{v_P(\lambda)}} \in \mathcal{O}_x^*$$

(2)  $P = P_{\neq}$ .

Proof: (1) We use transformation from S.7 & S.8

defn:  $f \mapsto w_\sigma$  ( $f(\sigma^{-1})^*(k) = w_\sigma$ )

$\underline{0} = (0,0)$  and note  $(u,v) = \overline{\sigma}(\alpha,\beta)$   $V_P(u) = 1$  of S.S.

Furthermore  $\text{Span}_K(u,v) = \text{Span}(\alpha - \beta_1, \beta - \beta_0) \Rightarrow$   
 we can extend the observation (5) to

**Observ. (5')**:  $f \sigma_x = w_\sigma \underline{0}$  &  $R P_x = w_\sigma \underline{0}$

Since  $u = x(u) \Rightarrow u \in w_\sigma \underline{0} = f P_x$

By S.12  $\frac{R}{u \cdot v(u)} \in w_\sigma \underline{0}^* = R P_x^*$

(2) By 2.5  $\exists Q \in \mathbb{P}_{K|K}$ :  $P_x \subseteq Q$ ,  $\sigma_x \subseteq \sigma_Q$

$\alpha - \beta_1, \beta - \beta_0 \in P_x \xrightarrow{S.8} P = Q \Rightarrow P_x \subseteq P$

we have  $P \subseteq P_x$ : let  $\Lambda \in P_{\sigma_Q} \Rightarrow \exists r_1, r_2 \in K[\alpha,\beta] - \{0\}$   
 $\text{s.t. } \Lambda = \frac{r_1}{r_2}$

Then  $\delta(1)$  for  $i=1,2 \exists \sigma_i \in \mathcal{O}_x^* : r_i = u^{v_p(r_i)} \cdot \sigma_i$  6

$$\Rightarrow r = \frac{r_1}{r_2} = \frac{\sigma_1}{\sigma_2} \cdot u^{v_p(r_1) - v_p(r_2)} \Rightarrow 0 < v_p(r) = v_p\left(\frac{\sigma_1}{\sigma_2}\right) + v_p(r_1) - v_p(r_2)$$

$\underbrace{\sigma_1}_{\in \mathcal{O}_x^*} \in \mathcal{O}_x^* \subseteq \mathcal{O}_P^*$ 
 $\updownarrow$ 
 $r \in P$ 
 $\underbrace{u}_0$

$$\Rightarrow r = \underbrace{\frac{\sigma_1}{\sigma_2}}_{\in \mathcal{O}_x^*} \cdot \underbrace{u^{v_p(r)}}_{\in P_x} \in P_x \quad \square$$

Example 5.14 Repeating 5.10  $f = x^2 + x + 3 \in \mathbb{R}[x]$

$$(-2, 2) \in V_{f(P)} \quad \Delta_{(-2,2)}(t) = 82x + 2y + 160$$

$$P = P_{(-2,2)} \in \mathbb{P}_{\mathbb{R}(x,y)} \quad \Delta \Delta \quad v_p(\alpha+2) = 1 \quad v_p(\beta-2) > 1$$

(= 2 ~~to~~ 5.10)

$$\Rightarrow P = P_{(-2,2)} = (\alpha+2) = \left\{ (\alpha+2) \frac{p(\alpha,\beta)}{q(\alpha,\beta)} \mid P, q \in \mathbb{R}(x,y) \right. \\ \left. \uparrow \text{ (as minimal ideal of 2.10 \& 2.15)} \quad q(-2,2) \neq 0 \right\}$$